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fn main() {
let X : Box<i32>

let y :i132 = *X;

Box::new( x: 42):

4 assert_eq! (y, 42);
}
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fn takes_str(s: &str) {
println!("{:?}", s);

Iy
fn main() {
let s :String = String::frem( s: "Databend");
7 takes_str(&s);
}
#i[stable(feature = "rustl", since = "1.0.0")]
impl ops::Deref for String {
| type Target = str;
#[inline]
| fn deref(&self) -> &str { unsafe { str::from_utf8_unchecked( v: &self.vec) } }
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enum List {

Cons(i32, List), fn main() {

Nil, let list = Cons(l, Cons(2, Cons(3, Nil)));
} }

use crate::List::{Cons, Nil};

error[EQ@T2]: recursive type 'List' has infinite size
-—> src/main.rs:1:1
|
1 | enum List {
| AMANAAAAA recursive type has infinite size
2 | Cons(i32, List),
;I ===== recursive without indirection
I
= help: insert indirection (e.g., a "Box’, "Rc’, or "& ) at some point to
make 'List® representable
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enum List {
Cons(i32, Box<List>),
Nil,

}

use crate::List::{Cons, Nil};

fn main() {
let list = Cons(1,
Box::new(Cons(2,
Box: :new(Cons(3,
Box::new(Nil))))));
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use std::cell::RefCell;
use std::thread;

fn main() {
thread: :spawn(move || {
let ¢ = RefCell::new(5);
let m = c.borrow();

let b c.borrow_mut();
}).join();
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